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eng

of the fraction becomes 1 . Find the required percentage.
4

01. 20% 02. 25%
03. 33.33% 04. 22%
05. None of these

gfqera s St

01. 20% 02. 25%
03. 33.33% 04. 22%

05. T & FrE 7S

Solution for Question 1

Let the percentage increase and decrease be x%.

Q-1 The value of a fraction is i . When the numerator is increased by a certain percentage and the denominator is decreased by the same percentage the value
g

Q-1 U e Fw7 9w %%ltvrer3TQTﬁ@ﬁ%ﬁqﬁmq@ﬁaﬁ%wgtﬁwqﬁmaﬁﬁaﬁ%a‘rf%ran‘rw %'@W%a‘rmﬁg

Ans Key: 4

Q-2 A train passes a man standing on the platform in 9 seconds and by the platform completely in 33 seconds. If the length of the platform is 288 metres, what

is the length of the train?

01. 96m. 02. 80m.
03. 108 m. 04. 112m.
05. None of these

Q-2 TF TRITST TIahTH T2 T2 AT<h il 9 AH0E § 3T L TEhH 1 33 HH0S H I F2

T rewT T v 288 HeT 27 a7 e RSt v

hi EICIFER IR
01. 96 . 02. 80 .
03. 18t 04. 1127
05. =8 T FIE T2t
Solution for Question 2 Ans Key: 3
en . _ 288
J Lengthoftram—?:ﬂ:lusm
hi _ 288
&7 o s = STx9 - 10g -
Q-3 The present age of a father is 3 years more than three times the age of his son. three years hence, father's age will be 10 years more than twice the age of
eng the son. What is the present age of the father?
01. 30 years 02. 32 years
03. 33 years 04. 37 years

05. None of these



=0
&

ToraT T g ST T T AT T A AT A T SATET @ A A &, FOar ¥ sy O A o 6 g & 10 99 sArar g ar foar i aqem sy

FAT 82

01. 309
03. 3399
05. =H FFIE TEH

Solution for Question 3

eng

Q-4

Let the son's present age be x years
Father's present age will be 3x +3
According to question

3x 3 +3 =2 (x+3) +10

3x+6=2x+16

x=10

Father's present age is 30 +3 = 33 years
A 6 gF i adAd g xaw & ar
far i adaa 3y ¢ 3x+3aw
THAR

3x+3+3=2 (x+3 ) +10
3x+6=2x+16

x=10

far $r adea 3mg 30 +3=33a§

A person running at 18 km/h completes one round of a park in 2 minutes If the ratio of length to breadth is 7 : 5 . Find its area.

A. 22775 m?2
C. 19450 m2

02. 3299
04. 379

B.
D.

21875 m2

20205 m2

Ans Key: 3

U AT 18 FoFft./=5E &1 THdTe & FTed g2 U 7 UF 97 2 e § avmar g1 afs ureh it aFars a7 ATSTe HT Aq9Td 7: 5 g1 a1 9w AT SR

A. 22775412
C. 19450 #2

Solution for Question 4

Q-5

eng

A distance cover by a person
18 18 120 = 600 M

2(7x+5%)=600

Length=175B =125

Area= 21875 m?

et g 2 @de d =oll TR gl

_ .
X W) =
18 » F 120 = 600

1o ony vuv

TS = 175 9SS = 125
Same= 21875 #.2

4

B.
D.

21875 2
20205 H2

Ans Key: 2

Each of these questions consists of a question followed by informations in three statements. You have to study the question and the statements and decide

that information in which of the statement(s) is/are necessary to answer the question.

How many students are there in all in the institute of Commerce, Science and Arts?

Statement I: 20% of the students study Arts.

Statement II: The number of students studying Commerce and Science are in the ratio of 5:3.
Statement I1I: The number of students studying Science is more than that of studying Arts by 100.

01. Only IT and III
03. Any two of the three

05. Question cannot be answered even with the

information in all the three statements

02. TII and either I or I only
04. AT, 1T and IIT



A= T T F, UF 97 3T Ik A8 AT FAAT H TR & TE F| AT T ST FAAT BT AT K00 T A 77 Fiorr G rerana woet
H 4T T SATHHTLT T &7 IAL & 6 [0 97 g/

Friorsa, BT ST e qere § e g 82

A 1 20% T FeAT T TEATT FA & |
FAT 11 ATTOTST 3T AT FT TETIAT FXA AT FTAT 361 ST FHT AATT 50 3 €
FA 111 TS FT ST FIA AT STAT 00 HEAT FeAT H TEATT FA AT BIAT 30T AT F 100 AT B

01. Faref 1 o7 I 02. Far AT AT I
03. fATH T FE A2y 04. Tfy [, 11 o 1L

05. F+ft AT ForeAi it FErAar q A =T
IAT Al (I AT HAFAT B

Solution for Question 5 Ans Key: 4

eng

Using I and II, percentage of students in three institute can be found out. Using this data and III, we will get final answer.

hi

1 T 11 T START 3 g0, T ST § ST 7 TTATT TAT FRAT ST FHaT & AT [ FATHT ST Fdeh g I (9 ST |

Q-6

eng

Q-6

Each of these questions consists of a question followed by informations in three statements. You have to study the question and the statements and decide
that information in which of the statement(s) is/are necessary to answer the question.

What is the measure of the diagonal of a rectangle?

Statement I: Length of the rectangle is equal to the side of the rhombus whose area is 135 sq. meter and the ratio between the side and the height of the
rhombus is 3: 5.

Statement II: Area of the rectangle is 72 square meter.

Statement III: Breadth of the rectangle is numerically equal to the area of the square whose side is 2 ,f> meter.

01. AllT, 1l and III 02. OnlyIand I
03.  Any two of the three 04. OnlyII

05. Only II and I1I
A= TF T H, TF T AT IHE AT A FAATH SATTHL G4 TS 2| ST T ST FAAT AT FAEITT 011570 S T T HHford o6 HIe0/7 Foat
T &Y T SATAHRTE T T IAL & F o0 A9 2/2

T = TR0t 7 91T T 2

FAT [ AT T AATE 3T THATHS & ST 6 I &, [SHHT &TF 135 T H{eT ¢ 3T FHAQHS 0 ST TAT HATS & 1= A9 3: 5 5l
T 11: AT T S=Ther 72 a1 HieT 2l
FAA 111 AT T ATSTE Aforeh T & 37 G0 6 &A% % Fra g, Ot i 212 #ew g |

01. AIITL I and III 02. Fa 1971
03. =T o Frg Avar 04. FaT 1l
05. Feer 11 9T I

Solution for Question 6 Ans Key: 3

eng

any two statements are sufficient

hi

FTE off 1 Fore TATH 2

Q-7

eng

Each of these questions consists of a question followed by informations in three statements. You have to study the question and the statements and decide
that information in which of the statement(s) is/are necessary to answer the question.

A milkman sells a homogeneous mixture of water and milk at a rate of Rs.40 per liter. Find the profit percentage of the milkman.

Statement I: He bought milk at the rate of Rs.35 per liter.
Statement II: He bought water at Rs.10 lower than the rate of milk per liter.
Statement I1I: He sold total 80 litre mixture.

01. OnlyIandII 02. OnlyIand III
03.  Any two of the three 04.  All three together are sufficient

0S. T, 1I and III together are not sufficient
A= T ToT §, TF T 3T ITF q1E AT FAAT § SATAHRE ST TS g1 AT AT ST FAAT H7 ST 1977 37T T T Fitord T Faan/& waet
T &Y T SITHHRTET W97 &7 I o % T a9 g/

T FEATAT TTHT 3T Z& F a7 7 40 =93 wf e i 3% 7 =7 81 ZoaTer HT AT Terd s Frfsrn



F L A 39 35 T U ofrew i 77 T "@dam
FAT [1: I8 I 1 g8 F 10 797 I e F:7 7 F gan
FA 111 39T HA 80 wATe< FHr=ror o=

01. Faorlaum I 02. Fger [ qoT I
03. frHFFFE AT ar 04. =T U T IATH §

05. [ II T 1L U= &7 off I e & forg
T qE 8

Solution for Question 7 Ans Key: 5

eng

as it is not given in which ratio both are mixed answer can not be find

hi

FTToh o TAT AT T T ST & TRt s /gt feam €, ofd: 397 Ag! 37 S 9T §

Q-8

eng

Q-8

Each of these questions consists of a question followed by informations in three statements. You have to study the question and the statements and decide
that information in which of the statement(s) is/are necessary to answer the question.

Find the share of B in partnership with A,B and C-

Statement I: Ratio of their investment is 12:7:10.
Statement II: B joined 8 months after C.
Statement I11: A started the business with an investment of Rs 52800.

01. Tand II together 02. I and III together

03. Anytwo 04.  All three together are not sufficient

05.  All three together are sufficient

AT T T |, T W ST SHF G7E T FAAT H AT 27 TS 23T TT AT FIAT HT AeqTqT o0 3T Tg a7 Fitora B3 Fi=en/d Faai
H =Y TS STTRTLT 7 T ST 3 & [oI7 a9 2/g

fa N faV NN

AB T C f1 arfier # B =7 fZwar st Firfer -

FIT 1 AB 7T C 3 fR3er 7 s 12:7:10 8 |
FIT 11 BT C % 8 ATE T f=arer fohaT |
Foe 11 A 7 52800 T F TR=rer 3 |12 =291 9TeRT R |

01. [q9T Il U 9T 02. 11T I U= 91
03. =rg o ar 04. =T UF T T A 2
05. T TF FT TATH &

Solution for Question 8 Ans Key: 4

eng

All 3 together are not sufficient

AT uF Frr w7t Ao 2

Each of these questions consists of a question followed by informations in three statements. You have to study the question and the statements and decide
that information in which of the statement(s) is/are necessary to answer the question.

Find the area of a rectangular park-

Statement I: Cost of fencing around park at 28 Rs/mtr is Rs 4704.
Statement II: Its length is 33.33% more than its width.
Statement I11: Diagonal of park is 60 meter.

01. Any two 02. TIandIorIII
03. Tand II together 04. 11 and I11 together

05. None of these
T TAF ToT H, TF T 3T ITF AT AT FAAT § SATTRE ST TS G| AT AT ST FAAT HT ST 1977 37T T T Frtordy T Faan/& wret
H &Y T ST W27 &7 I o o o7 a9k /2 |

T ATIATRTE UTeh T ErThet T Ty -

A [ TR F SATITH T AT 67 AT 28 €97/ Hax T a7 T 4704 2 |
F 11: ST TS THT FTSTE 7 33.33% AT 8 |
A 111 3= &7 f307 60 Hiew 8 |



01. =7g <=y
03. 1T I U |1

05. =AW H AT T

02. JIquTIATII
04. 11T III TS 97X

Solution for Question 9 Ans Key: 3
eng I and Il together are sufficient
hi | =T Il T3 T 99T

Q-10 Mr. Surendra earns Rs.75000 per month and spends 80% of it. Due to revise in salary his monthly income has increased by 20% but due to price hike he

eng has to spend 20% more. What is his new savings?

01. Rs.16200
03. Rs.16800
05. None of these

02. Rs.19200
04. Rs.15000

Q-10 & q&wx vl ATE 75000 FT FHIT & 3T TTH & 80% @ HT 37 &1 AAT H HETE 5 FHTLIT 36T FIEF AT H 20% F1 {5 g2 &, A0 ot #

hi TR o LT Ieg 20% ATerF T FLAT T2AT 8| STl 7% T=d F4AT 22
01. =.16200 02. =.19200
03. =.16800 04. =.15000

05. =8 qFIE TRl
Solution for Question 10

Income = 75000

Savings: .TLL 72000 = 15000
New income = % 72000 = 90000
New expenditure = i 60000 = 72000

New savings = 90000 — 72000 = Rs.18000

a3 = 75000

= = % '_-'-|':||:“||':|: 15000

Tt s = 120 75000 = 90000

qarerg = 120 60000 = 72000
100

T T = 90000 — 72000 = %.18000

Q-11 A canbuild a wall in {4 _ hours while B can build the same wall in -

joined him after 2 hours?

01. 30 days
31
03. 15 days

o

1
05. None of these

Ans Key: 5

i hours. In how many hours would the wall be built if A start the work and B

Q11 Aty frare oy 3 | o srafr B el S i |, L o # o et & e Pt o2 7 fore 2t afx A% F7F o0 0% 5 2 52 1A B
o

hi 3
AT gATBI?

01. 30 feA
i v

03. 15 fe=
T

05. =7 FFHIE T2

Solution for Question 11

02. 11fee
Tz

04. s o
ber

Ans Key: 3

eng From allegation rule

40/3 15



200
2512 16

Total work done in first 2 hours =15 %2 =30
Remaining work = 200-30=170

Total ti 4= 170 15
otal time spend =2 e TH
hi
Famr e Fe &
40/3 15
200
2572 16

e 2 HE A Bar rr aR = 15x2 =30
g &7 = 200-30=170
170 13

@mﬁﬁm:2+?=?ﬂ

Q-12 In a mixture of 420 liter water is 20% and rest is milk. What quantity of mixture should be taken out and replaced with water so that water becomes 40%.

01. 100 liters 02. 95 liters
03. 80 liters 04. 75 liters
05. None of these
Q-12 420 . =01 § 20 % 9T & TAT AT T | THH F fohaaa1 7o [Mehrersne Saeh ©419 9% IIT [HeAr=r Jfad avfes a1 &1 Siaerd g7 40 % a1

ST
01. 100 <frex 02. 95 wfrex
03. 80 =fex 04. 75<fiex
05. =99 ¥ FIs A0
Solution for Question 12 Ans Key: 5

Taking percentage of water and applying allegation rule

20 100
40
60 G = 31
4=420
1 =105 Liter
B Tt T SR S W R e & frw @
20 100
40
60 0 = 3:1
4=420
1=105 @iex

Q-13 In a class of 45 students average age is 17 years 9 months. When 15 new students take admission new average becomes 18 years 6 months. Find the
eng average age of new students.

01. 20 years and 6 months 02. 20 years and 9 months
03. 20 years and 3 months 04. 21 years and 3 months
05. None of these



Q-13 45 Igi T UF FeqT T 39d o 17 a9 9 7L 21 15 TF TG 6 T4 A o THT T TeH< 18 T 6 AT BT SATAT g1 T T A ATl SraAT T e
hi ATy AT HIr

01. 20 = q97 6 ATE 02. 20 7Y q97 9 AT
03. 20 79 747 3 ATE 04. 21 79 Tu7 3 WTE

05. =98 qFIS A5t
Solution for Question 13 Ans Key: 2

eng Apply allegation rule

17.75 X

x-18.5 A5

x-18.75 45

B 15
Now x—18.5=225

x=20.75

Hence required answer=20 years and 9 months

a0 & oA |

1 b X
18 5
x-18 5 75
1875 45
3a ~18.5=225
2075

3a: sfce 3 = 20 99 T 8 A

Q-14 Find the value of variables and state the correct relationship-

(1) 6x>+23x +20=0  (I) 6y>+ 41y + 63 =0

01. X>y 02. X<y
03. ny 04. xSy

05. x=y or no relationship can be established

Q-14 =31 & 91 ST IS0 TT Tl THIwe 1T it

hi

(1) 6x2+23x +20=0 (1) 6y2+ 41y + 63 =0

01. x>y 02. X<y

03. x>y 04. x<y

05. x=y T s TF TS Al AT ST

HHRATE

Solution for Question 14 Ans Key: 5
eng x=-25,-133, y=-4.5,-2.33
hi x=-2.5,-133, y=-4.5,-2.33

Q-15 Find the value of variables and state the correct relationship-

eng
(D) 8x*+3x=38  (Il) 6y>+34=29y



01. X > y 02.
03. X> y 04.
05. x=y or no relationship can be established

F] T /A AT FISTT TAT Tl qF& AT Ao -

(@) 8x2+3x=38  (I) 6y*+34=29y

01. x>y 02.

03. ny 04.

05. x=y T s TqF TS AT AT ST
AT &

Solution for Question 15

eng

Q-16

(1) 8x2+3x =38
8x2+ 19x - 16x - 38 =0
x(8x+19)-2(8x+19)=0
(8x+19) (x-2)=0
x=2,-19/8 (i.e. -2.375)
(II) 6y + 34 = 29y
6y2-29y +34=0
6y2-12y - 17y +34=0
6y(y-2)-17(y-2)=0
(y-2)(6y-17)=0
y=2,17/6 (i.c. 2.83)
Hence, x <y.

(1) 8x2 + 3x = 38
8x%+ 19x - 16x - 38 =0
X(8x+19)-2(8x +19) =
Bx+19)(x-2)=0
x=2,-19/8 (AT - 2.375)
() 6y2 + 34 =29y
6y2-29y +34=0
6y>- 12y - 17y +34=0
6y(y-2)-17(y-2)=0
(y-2)(6y-17)=0
y =2, 17/6 (377 2.83)
Adq:, x<y.

0

X<y

X<y

X<y

Find the value of variables and state the correct relationship-

D) 172+144+18=x () y=26%—18 x21

01. X > y 02.
03. X> y 04.
05. x=y or no relationship can be established

T T HT AT 01 o AT FRT TFel AT hi or -

(D) 172+144+18=x (II) y=262—18 x21

01. x>y 02.
03. ny 04.

05. x=y IT FIS Trareey TTOT q21 AT ST
AT

Solution for Question 16

eng

hi

Q-17

eng

x =297,y =298
X<y

x =297,y =298
X<y

X<y

X<y

X<y

X<y

Find the value of variables and state the correct relationship-

X+y3=6244

Ans Key: 2

Ans Key: 2



2x-y=23

01. X > y 02. X< y
03. X> y 04. x< y
0S. x=y or no relationship can be established

FL T AT AT AT TAT Tl T AT I o1
X3+y3=6244

2x-y=23

01. X>y 02. X<y
03. XZY 04. XSy

05. x=y T s TqF TS AT AT ST
qHAT &

Solution for Question 17 Ans Key: 2

eng

Q-18

Q-18

x=17

y=11
X<y

x=17

y=11

Find the value of variables and state the correct relationship-

(1) 17x+5y=306  (II) 9x-2y=83

01. x>y 02. x<y
03. XZy 04. xfy

05. x=y or no relationship can be established
T T AT ST T8 qAT gt T8I ST i oA -

() 17x+5y=306  (II) 9x-2y=83

01. x>y 02. x<y
03. xzy 04. xgy

05. x=y AT FIE F¥a=e TATGT T2l (4T ST
qHRATE

Solution for Question 18 Ans Key: 2

eng

x=13 y=17
X<y

hi

x=13 y=17
X<y

Q-19

eng

The average age of a husband — wife and their son was 42 years. The son got married and exactly after 1 year child was born to them. When the child
became 5 years old, the average age of the family became 36 years. What was the age of bride at the time of marriage?

01. 26 years 02. 25 years
03. 34 years 04. 23 years

05. None of these
Tf - Tt SfTY I A< T ST g 42 AW o) 27 ATt d a1 T T S | a9 a1 IqH! UF gl G&T AT S agT 5 a9 F &l v g, ar
T ¥ SfEd o 36 a9 BT AT 7)1 FE¥aTg F qHT gogd i 3% 4T A

01. 269 02. 2599
03. 349% 04. 2399
05. =8 #rE T

Solution for Question 19 Ans Key: 2



eng

Q-20

eng

Q-20

Total ages at time of marriage = 3 x 42 = 126 years

When child of the son become 5 years old then there are 5 members in family,
Total age of these five members =5 x 36 = 180

If age of daughter in law was X year at time of marriage,

then,

126 +x+6x4+5=180

x =25 years

ﬁag%ﬁwwaq 3x42=12699
wwsaﬁm@m%a‘rwﬁaﬂﬁswﬁaﬁ%

e 5X36—180
?Wﬂlﬁw qu

126 +x+6%x4+5=180
x=25aY

Half of 100 articles were sold at a profit of 20% and the rest at a profit of 40%. If all the articles had been sold at a profit of 25%, the total profit would

have been Rs.200 less than earlier profit. The cost price of each article was-

01. Rs.30 02. Rs.45
03. Rs.40 04. Rs.50
05. None of these

100 FEA 7 Seft TEGU 20% F ATH T A=A TAT ST AT TEGU 40% F ATH T =1 T4 | TTE AT TE3A AT 25% F ATH T =T 1T, HA ATH

TR F ATH F 200 FTT FH T T T T AW Froa off-

01. %30 02. %45
03. 540 04. %50
05. =% & FI T2l

Solution for Question 20

Q-21

Q-21

hi

Let CP of one item be x
According to the question,
120% of 50x + 140% of 50x = 125% of 100x + 200

5

x =40

AT TAF T FTFT LA X 2 |

TATLAT,

50x =T 120% + 50x =T 140% = 100x =T 125%+ 200
x =40

What approximate value should come in place of question mark (?) in the following questions?

1762”" f432-18.22 £
—Y% i 2= =
3 = = 152
01. 422 02. 511
03. 389 04. 309

05. 256
ooyt & weram=e g (2) 3 T 9% SRR T 4T AT AT

2 :
1162 % 18.22=
43231 1162% 18.22= - ;

01. 422 02. 511
03. 389 04. 309
05. 256

Solution for Question 21

eng

hi

Q-22

(504-331.24) x 2.25 =388.71
(504-331.24) x 2.25 =388.71

What approximate value should come in place of question mark (?) in the following questions?

Ans Key: 3

Ans Key: 3



eng

Yn%nﬁ3ﬂa?%ofw2=szxzﬁ
12

01. 256 02. 199
03. 144 04. 312

05. 422
Faferfe w1t & werar=es fHeg (2) F T 9% TR 47 |49 AT AT 0?

321 T 172% - 16> %1 2% = 82373
1.2

01. 256 02. 199
03. 144 04. 312
05. 422

Solution for Question 22

Ans Key: 2

eng

?
?x 256 —7

Q-23

Q-23

?=198.99

What approximate value should come in place of question mark (?) in the following questions?

=280% of ?

01. 10 02. 4
03. 6 04. 12

05. 15
e weort & weram=a 5 (2) °F TSI U ST #6947 /9 1471 A1

= ? %1 280%

01. 10 02. 4
03. 6 04. 12
05. 15

Solution for Question 23

cug

/645525  280x?

2027+2398 100

803.45 100

4425 280
2=6.48

Ans Key: 3

+645525 _280x7?
20.27+23.98 100

803.45 100

we___=9

4425 280
?=6.48

Q-24

eng

What approximate value should come in place of question mark (?) in the following questions?

112% of 245+ 211% of 311 _

— 22
245% of 525 -199% of 322
01. 24 02. 12
03. 3.6 04. 6

05. 48



hi 2457 112% + 3117 211% _» N
505 7 045% _320 7 199% | [erred At § wyarsE ey (2) % EA O AT F4 A AT AR?

01. 24 02. 1.2

03. 36 4. ¢

05. 4.8
Solution for Question 24 Ans Key: 2
eng 274.4+656.21 =931"G1=1.44=?2=?=1,2

1286.25-640.75 645.5
hi

274.4+656.21 :EJ31.{51:14‘4:?2=?=1I2

1286.25-640.75 645.5
Q-25 ‘What approximate value should come in place of question mark (?) in the following questions?
eng

2 2, 2
73.2 128.5 : 222.1 :331%01,,?
111.2°-85.8 3

01. 3 02. 5

03. 1 04. 7

05. 13
Q-25 fAwfafaa wii & wrarss g (2) F #9 9% FETERT F#47 /I ST A1180?

2 2 2
732 7128.5 7222.1 :?EF331%
111.2°-85.8 3

01. 3 02. 5

03. 1 04. 7

05. 13
Solution for Question 25 Ans Key: 1

eng 5358.24-342.25 + 488.41
12365.44-7361.64

55044 _ 7 . .
5003.8 @

5358.24 -342.25+ 488.41
12365.44-7361.64

5504.4 7
50038 3

=33

Passage for Question 26, 27, 28, 29, 30 (ST-44 SBI PO (PRE) 2018 TABLE CHART)
eng Passage

Read the following information carefully to answer the questions asked-
The following table gives number of people staying in five different Colonies and the percentage Breakup of Men, Women and Children in them.

Percentage
Colony Population
Men Women Children
A 5200 42 44 14
B 3240 40 35 25
12 7280 60 30 10
D 9000 46 41 13
8640 55 35 10

hi Passage




et areoft ai= Gt swientaat & T arer ST it HedT sie 3a0 qout, AiRarst i agt &1 gfaerd saer it 8
T T ToAT 3T IAL Qe o (o7 AT TRAT ST T eI a e STeaae i rord -

i
FEHT | s
ksl Higerm B
A 5200 42 44 14
B 3240 40 35 25
c 7280 60 30 10
D 9000 46 41 13
E 8640 55 35 10

Q-26  Whatis the total number of women and children together in colony D ?
eng

01. 3640 02. 3520
03. 4860 04. 4650

05. None of these
Q-26  FIHT D H ARRATSH f¥ agt it U A7 o HeAT FAT 82

01. 3640 02. 3520
03. 4860 04. 4650
05. =U HFTE T

Solution for Question 26 Ans Key: 3
Required answer=54 % of 9000=4860
FHTE I = 54 % of 9000=4860
Q-27 Find the difference of women living in colony B and D.
01. 2556 02. 2480
03. 2720 04. 2630
05. None of these
Q-27  FIHT BT D H T2 ATelt ATTsll i SEAT T AL Aq o4 |
h
01. 2556 02. 2480
03. 2720 04. 2630
05. =q9 T IS Al
Solution for Question 27 Ans Key: 1
eng 41% of 9000 - 35% of 3240=2556
Q-28 Children living in colony C are approximately what percent of number of women living in colony A?
eng
01. 28% 02. 32%
03. 35% 04. 44%
05. 24%
Q-28  FIAET C | L@ ATl TGl ol HEAT HIAT AH T2 ATAT ATATSA 20T SEAT T T {oha el Tererd &2
hi
01. 28% 02. 32%
03. 35% 04. 44%
05. 24%
Solution for Question 28 Ans Key: 2

eng Children living in colony C=10% of 7280=728
Women living in colony A=44% of 5200=2288

Required answer= =
— r D’-' -\."',_ DJI
q 355 % 100% ~ 32%




hi Pl C T& arer gl Y TEAT=10% of 7280=728
Pl A IgeT drel ATZAT3N Y EAT =44% of 5200=2288

HME 3= " _ 100% ~ 32%

]
]
(=]
L=

Q-29 The number of women staying in which colony is second lowest?

eng
01. B 02. A
03. D 04. E
05. C

Q-29 i et i v ATelt HRETS 1 s g i A 2

01. B 02. A
03. D 04. E
05. C
Solution for Question 29 Ans Key: 5
eng Number of women staying in colony A=44% of 5200=2420
Number of women staying in colony B=35% of 3240=1134
Number of women staying in colony C=30% of 7280=2184
Number of women staying in colony D=410f 9000=3690
Number of women staying in colony E=35% of 8640=3024
So required answer is colony C
FIATT AH Tg AT ATGATAT 61 HEAT =44% of 5200=2420
AT B H Tged ATel AigeArell 6l J&aT =35% of 3240=1134
FIAT C H Tg AT Aigerral i §eaT =30% of 7280=2184
FIAMT D H Tg aTelr Aigara st §&41 =410f 9000=3690
FIAT EH g areit Afgersi i Jeqr =35% of 8640=3024
o Y I AT C ZAAT
Q-30 What is the respective ratio of number of men staying in colony A to the number of men staying in colony C ?
01. 12 02. 2:1
03. 32 04. 23
05. None of these
Q-30  FIEAT C H L@ AT TR T HEAT TAT FIATT A H g aTel T=UT 6T ST 7 7+E eI #4471 2
01. 12 02. 2:1
03. 32 04. 2:3
05. =8 q FIE A1
Solution for Question 30 Ans Key: 1

eng Number of men staying in colony A=42x52=2184
Number of men staying in colony C=728x6=4368
Required ratio=2184:4368=1:2

hi FIATT AH TEe ATl TR 0T HEAT =42%52=2184
FIATT C H TE aTel [T T HEAT =728x6-4368
STTE ST =2184:4368=1:2

Passage for Question 31, 32, 33, 34, 35 (ST-58 CWEBCLPRE(56-60)2017)
eng Passage
Read the following information carefully and answer the following question.

Number of candidates Appeared and qualified in a IBPS Mains exam from Different states over the year-

State/ Year 2011 2012 2013 2014 2015
App. | Qua.| App. | Qua. | App. | Qua. | App. | Qua. | App. |Qua.
A 5200 |720 (8500 |980 (7400 |850 |6800 (775 (9500 [1125
B 7500 |840 (9200 (1050 |8450 [920 [9200 |980 |8800 |1020
C 6400 |780 |8800 (1020 |7800 (890 |8750 |1010 |9750 |1250
D 8100 |950 (9500 |1240 |8700 (980 (9700 |120 |8950 (995
E 7800 (870 |7600 (940 |9800 |1350 (7600 |945 |7990 |885




hi Passage
e & Tt ST F AT E T T ST e e % 39w St

o 2 it & Gt oot & o & e g ol § Sufud gu sremeft siv St sremefi-

State/ Year 2011 2012 2013 2014

2015

App. |Qua. | App. | Qua. | App. | Qua. | App. | Qua. | App. |Qua.

5200 |720 (8500 |980 |7400 |850 |6800 |775 |9500 (1125

7500 [840 |9200 (1050 |8450 [920 |9200 (980 |8800 [1020

6400 |780 |8800 |1020 |7800 |890 |[8750 |1010 |9750 |1250

8100 (950 (9500 |1240 |8700 (980 |9700 |120 (8950 995

monOim| >

7800 |[870 |7600 |940 (9800 |1350 (7600 |945 |7990 [885

Q-31  Inwhich year state C has maximum percentage of qualified candidates?
eng

01. 2011 02. 2012
03. 2013 04. 2014
05. 2015

Q-31  frEad & w57 C & 3T sreareff &7 witera @atferss 82

01. 2011 02. 2012
03. 2013 04. 2014
05. 2015

Solution for Question 31
2015
2015

Ans Key: 5

Q-32 The percentage of total number of qualified candidates to the total number of appeared candidates among all the five states in 2013? (round of two digit)

01. 11.74 02. 11.89
03. 12.25 04. 12.44
05. 12.56

Q-32 AT 2013 & TiAT ST H 0T g1+ ATl G5 ATEHTT g1 AT ST T (oha AT Saerd 82 (37 31 )

01. 11.74 02. 11.89
03. 12.25 04. 1244
05. 12.56

Solution for Question 32

Ans Key: 2

eng 850+ 920+ 890 +980+1350 "
7400 + 8450 + 7800 + 8700 + 9600

=11.89%

100

hi 850+ 920+ 890 +980 +1350 ,
7400 + 8450 + 7800 + 8700+ 9600

=11.89%

100

Q-33 What is the average candidates who appeared from state D in all the given years except 2015?

eng
01. 7500 02. 8000
03. 8500 04. 9000
05. 9500

Q-33 @9 2015 F sreArar F47 AT H 757 D | AATAd gU SAHATIHIT T 3ed #4782

01. 7500 02. 3000
03. 8500 04. 9000



05. 9500

Solution for Question 33 Ans Key: 4
eng 8100+9500+8700 +9700 9000
4
hi
8100+9500+8700 +9700 9000
4
Q-34 What is the percentage of candidates qualified from state B for all the years together to the number of total candidates appeared from state B? (upto two
eng digits after decimal)
01. 11.75 02. 11.50
03. 11.15 04. 11.27
05. 11.37
Q-34  Tr5F BH T qul § AT srereft 57 B 7 Y A0t § Afewfora srefiat w1 fhaar afaad 82 (Fa9ad F 18 a6 S aF)
hi
01. 11.75 02. 11.50
03. 11.15 04. 11.27
05. 1137
Solution for Question 34 Ans Key: 3
840+1050+920 +980+1020 100
7500+ 9200 + 8450 + 9200 + 8800
=11.15%
840+1050+ 920 +980+1020 100
7500+ 9200 + 8450 + 9200 + 8800
=11.15%
Q-35 Total number of candidates qualified from all the states together in 2011 is approx what percent of the total number of candidates qualified from all the
states together in 20127
01. 75% 02. 80%
03. 85% 04. 90%
05. 95%
Q-35  FW2011 T TTSAT & ITAIOT STEATEIAT T H&AT AY 2012 F T T[T & IO SAEATIAT T FEAT 3T AT el Terd g2
01. 75% 02. 80%
03. 85% 04. 90%
05. 95%
Solution for Question 35 Ans Key: 2
eng 720+840+ 780 + 950 + 870 100
X
980+1050+1020+1240+ 940
=79.5~ 80%
hi 720+840+ 780 + 950 + 870 100
X
980+1050+1020+1240+ 940
=795~ 80%
Q-36 These questions are based on following five words.
eng

TAP IRP XIL TIO JIO

If the first and third letter in each the word are changed to the previous alphabet according to the English alphabetical order, how many of them will have at
least two vowels?

01. 2 02. 3



03. 4 04. 5

05. 1
Q-36 =g wa Fwfofad ot a=al 9% e g
hi
TAP IRP XIL TIO JIO
T T 953 % Tgel ST AT 3TAT il SRS AUHTAT H F AT forager a7 F Faer g7 Svar €, 97 9% 7 Fraw oreai § w9 & F:7 37 T2 g
01. 2 02. 3
03. 4 4. 5
05. 1
Solution for Question 36 Ans Key: 1
eng TAP IRP XIL TIO JIO
SAO HRO WIK SIN 1IN
hi TAP IRP XIL TIO JIO
SAO HRO WIK SIN IIN
Q-37  These questions are based on following five words.
TAP IRP XIL TIO J1O0
If the second letter in each of the word is changed to the next alphabet according to English alphabetical order, how many of them will have no vowel?
01. 2 02. 3
03. 4 04. 5
05. 1
Q-37 =g v Ao ot asat 7 srerhd )
TAP IRP XIL TIO J1IO
TS T 957 % THL 3TAT Tl SRS AUHTAT HH * ATHTL ST a0 H & [ FT ST 5, AT ITH o o o5l § Hs w47 qol g2
01. 2 02. 3
03. 4 04. 5
0S. 1
Solution for Question 37 Ans Key: 1
TAP IRP XIL TIO JIO
TBP ISP XJL TJO 1O
TAP IRP XIL TIO JIO
TBP ISP XJL TJO 1O
Q-38  These questions are based on following five words.
eng
TAP IRP XIL TIO JIO
If the first and the third letter in each of the word are interchanged, how many meaningful words will be formed?
01. 2 02. |
03. None 04. 4
05. 3
Q-38 =g wa Awfafad ot =i 9% sratia g
hi

TAP IRP XIL TIO JIO
T T 5% H TEAT 3T A6 STqT T AIH § F& (S0 ST & T Tohae sTequl &g aeir?



01. 2 02. 1

03. s gl 04. 4
05. 3
Solution for Question 38 Ans Key: 2
eng TAP IRP XiL TIO JIO
PAT PIR LIX OIT ol
hi TAP IRP XiL  TIO JIO
PAT PIR LIX OIT Ol
Q-39  Study the given information carefully and answer the following questions.
eng
5 Boys- S, T, U, V and W; are having different weights (in kgs), but not necessarily in the same order.
The one who is having 30 kgs weight is S. W is having 39 kgs weight. The one who is having 10 kgs weight is V. V is heavier than only T. U is heavier than
W.
W is heavier than persons.
01. 2 02. ¢
03. 1 04. 3
05. 4
Q-39 FwfriEd STl T AT @ Aeddq= ¥ {17 = {30 10 et & 392 <o
5A=H- S, T, U, V 3T W, SeT-aren asi (BRI, #) F €, i st Ta1 % = 79 H 2
g =A<k a9 30 e €, 98 S 81 W T a9 39 faretrum g1 ag =i~e S| a9 10 e €, VEl V aad T T oer § 9T g1 U,
W T o1 § AT 2
W, TSt g A 2
01. 2 02. 0
03. 1 04. 3
05. 4
Ans Key: 4
Q-40 Study the given information carefully and answer the following questions.
eng
5Boys- S, T, U, V and W; are having different weights (in kgs), but not necessarily in the same order.
The one who is having 30 kgs weight is S. W is having 39 kgs weight. The one who is having 10 kgs weight is V. V is heavier than only T. U is heavier than
W.
The weight of U is kgs. (Possibility)
01. 55 02. 35
03. 25 04. 15
05. 27
Q-40 FHfIET ST T SATTIES AT Y AT = (0 T 3507 6 I &A1
hi . . . .
5dH- S, T, U, V 3T W; STeNT-1 aoi (FRIT. #) % ¢, oo STet 2t foF 26 77 | g1l
g =T et ast 30 fhefuma 2, 8 S 81 W T i+ 39 frarmw 81 ag =afxs et aste 10 e 2, V 81V & T gor § 9 81 U,
W T T H 9T g
U =T Feie ERUERGEIERD)
01. 55 02. 35
03. 25 04. 15
05. 27
Ans Key: 1
Q-41  Study the given information carefully and answer the following questions.
eng

A is the father of B. C is the daughter of F. F is the brother of B. L is the mother of B. Z is grandfather of B. K is sister of L. P is the mother of C.



How F is related to Z?

01. Grandfather 02.  Grandmother
03. Father 04. Grandson

05. Granddaughter
Q-41 fwforfed ST F7 ea@ s steaae w¢ i A f2w o vt 3 3= O

. A, BT f9a1 81 C, F Y 3¢t &1 F, BT 97 21 L, B 3T |11 21 Z, B T aTaT g1 K, L T 572+ g1 P, C &t AT 21
F,Z ¥ % gafda 87
01. =reT 02. =TT
03. fiar 04. Trar
05. orat
Solution for Question 41 Ans Key: 4
eng ZH
A’ 5 K
B- F: F
C‘—:
Z
A’ = K’
B- F p
CR'P

Q-42  Study the given information carefully and answer the following questions.

eng
A is the father of B. C is the daughter of F. F is the brother of B. L is the mother of B. Z is grandfather of B. K is sister of L. P is the mother of C.

How K is related to B?

01. Niece 02. Daughter
03. Mother 04. Nephew
05. Aunt

Q-42 fAwforfed ST F7 e E@® steaaw w¥ s A fRw o went 3 3= O

" A, BT f9aT 81 C, F Y 3¢ &1 F, BT 97 21 L, B 31 ATaT 21 Z, B T a1aT g1 K, L T 578+ &1 P, C &1 AT 81
K, B & &% gafda 89
01. «isfy 02. &
03. HTaT 04. q7SIT

05. 3w



Ans Key: 5

Q-43 These questions are based on following five words.

eng
TAP IRP XIL TIO JIO
If each letter of each word is arranged in alphabetical order within the words, how many words will change after rearranging?
01. 2 02. |
03. 4 04. 5
05. 3
Q-43 =gy MHforiad af= aeat 9% e 2|
hi
TAP IRP XIL TIO JIO
T T T3  TedT FEAT HT 51 % HIq¥, AVHTAT % HF § HATEAT AT AT &, T IH: TATEAT FIA % AT8 Fohael e T&ef SAT0r?
01. 2 02. |
03. 4 04. 5
05. 3
Solution for Question 43 Ans Key: 4
TAP IRP XIL TIO JIO
APT IPR ILX 10T 1JO
TAP IRP XIL TIO JIO
APT I[PR ILX I0OT 1JO
Q-44 These questions are based on following five words.

TAP IRP XIL TIO  JIO

If the first and the second letter in each of the word are interchanged, how many words will not be started with a vowel?

01. 2 02. 3
03. 0 04. 5
05. 1

Q-44 =g w1 Awfofed at= o=ai 97 sremha gl

TAP IRP XIL TIO  JIO

7 T orea H TeeT ST gHTT AETL ATH H aaer (a0 1 &, A1 by ore @7 | 0 T80 22

01. 2 02. 3

03. 0 04. 5

0s. 1
Solution for Question 44 Ans Key: 5
eng TAP IRP XIL TIO JIO

ATP RIP IXL ITO 1JO
hi TAP IRP XIL TIO JIO

ATP RIP IXL ITO 1O

Passage for Question 45, 46, 47, 48, 49 (ST-169 SBI PO PRE (1-5) 2019)
eng Passage

Study the given information carefully and answer the following questions.

A group of friends- R, S, A, N, K, P, Q and W are sitting around a circular table. All persons are facing the centre. Each person belongs to different community i.e.
Z,Y,X,F,V,U, Tand O, but not necessarily in the same order.

The person who belongs from community X and community F are facing to each other. The person who belongs from community U is facing to the person who
belongs from community V. The person who belongs from community U, sits second to the left of the one who belongs from community Y. K is an immediate
neighbour of W. S and A are facing to each other. S is not an immediate neighbour of R. The one who belongs from community Z, sits second to the right of Q. W
sits third to the right of R. Either S or A belongs from community Y. N does not belong from community V. K and Q are facing to each other. A belongs from
community T.




hi Passage
afafaT STasTd F 1 sq\ga T Ae7IT R AT Frwrg wsat F s Afora:

X,F,V,U, T 3% O & Haef TEdT g, AT ST&<l 7l 1o 51 %9 § 2T

THETT V F Tvateyd T8l gl K T Q U THY F ATH & T 95 gl A, HHETT T & q¥afedd gl

FEAT HT UF T R, S, A, N, K, P, Q 3fi¥ W UF FATH A F AT 3T 95 &1 TdT =ARF 37 F1 AT q@ 0 95 g1 TcdF ATk SToT-3eT FH2T Z,Y,

g AT ST THETT X 3T FHE F ¥ G 7T 2, UF o< % G0 @ 70 95 8| a8 Ah ST GHard U & Jaferd g, 39 A6 Sl AT @ 7l 927 8 ST
TETT V F G&f3a g1 99T U & gafad safw, a9 Y & gafad safe & 9o g6w7 927 81 K, W T T30 92T g1 S 3T A UF gAY F 919 §d #3095
g1'S, R & A TETHT A2 g1 a7 ATh ST GHETT Z | Ha1ed &, Q & T1d AT 95T 81 W, R F 374 S1ET JaT g1 ATAT S IT ATHET Y ¥ g8 arad gl N,

Q-45 Who sits between K and N?
eng

01. A 02. S

03. The one who belongs to community U. 04. R
05. Q
Q-45 K SITN F &= #I 421 2?

01. A 02. S

03. =g =% ST 7= U & aeafead gl 04. R

05. Q

Ans Key: 3

Q-46 The one who belongs to community Z, is the neighbour of

01. KandR 02. SandP

03. Pand A 04. WandR

05. None of these
Q-46 =g =Afh S Y& Z ¥ g¥a{~4d &, FT ISTET 2

01. KsTR 02. S=fTP

03. PeiTA 04. W ITR

05. =% FFTS T

Ans Key: 3

Q-47 How many person sit between K and S? (When counted clockwise from K.)
eng

01. 2 02. ¢

03. 3 04. 5

05. 4
Q-47 K ¥ ST & fohaw =af<h 93d 22 (I K ¥ Zferomad [ Smar 21)
hi

01. 2 02. ¢

03. 3 4. 5

05. 4
Solution for Question 47 Ans Key: 5

eng

@)

(u)

ya

ot

N




(XE)Q K{X/F)

W) (ey]
P A
R
(Z)
©)
N -
(¥ w
(XF)Q K{XF)
) {ey]
P A
R
(Z)

Q-48  The one who belongs to community F, sits fifth to the left of .

eng
01. K 02. S
03. The one who belongs to community O. 04. w
05. A
Q-48 =g =af<F ST O9E™ F § awfad g, F ITH AL qrEET G357 2
01. K 02. S
03. 3g =3f<h ST JETT O 7 aHf+4d gl 04. W
05. A
Ans Key: 4
Q-49  Ssits between
01. QandK 02. QandR
03. QandN 04. Qand A
0S. None of these
Q-49 S. F F a3 %—|
01. QsTK 02. QTR
03. Q=TN 04. QzfiTA
05. =A% IS Al
Ans Key: 3

Passage for Question 50, 51, 52, 53, 54 (ST-170SBICLERKPRE (71-75) 2019)
eng Passage

Study the following information carefully and answer the questions given below:

Twelve persons are sitting in two parallel rows containing six persons in each. In row 1- A, B, C, D, E and F are sitting and all of them are facing south. In row 2- P,
Q, R, S, Tand U are sitting and all of them are facing north. In the given seating arrangement, each member seated in a row faces another member of the other row
but not necessarily in the same order.

C is not sitting on extreme end of the row. S sits third to the left of P who is an immediate neighbour of T. Only two persons are sitting between E and F. B sits
second to the right of D who sits on extreme end of the row. More than 3 persons are sitting between S and U. C is not facing to Q. Neither E nor F is sitting on
extreme end of the row. A is not an immediate neighbour of E.

hi Passage

Referfd ST T SAIE® Teaa F T A+ [0 70 F=77 % I Fiora:

g AT &1 FHTAEE GTrat § 9% 8 Sad 7o § 6 =7t 81 Ufe 1 8- A, B, C, D, E 37T F a4¥ feror f e 7@ &2 98 g1 9kr 2 §- P, Q,R, S, T
T U; T9ft I T 3T q@ F0ah 95 g1 &1 TS S ol e i o SAqHTE, UF Uik H T3T7 T Haed, T Gich o (T v 93 % 31 ar 927 8,
fehe STy et B 32t )




C 4f<F % <Ifqw e a2 7 F21 81 S, P F a7 19 T 9T 2, S T T UF G TErET g1 E 37T F 3 S § Al a7 =4fF 95 &1 B, D % 373 g8 &
T ST &, ST AT F Rt U Sifw S A a3T g1 S T U i 3 & offers =6 906 g C, Q F AT & 0 Ael 957 gl 7 aqT E 3T &1 F, Ufe &
Afaw P AT IBT L1 A, E T A TSIHT 781 2

Q-50  How many person sits between F and C?
eng

01. None 02. 3
03. 2 04. 1

05. None of these.
Q-50  F 3T CF = foha =afr &8 82

hi

01 FrE 7 02. 3

03. 2 04. 1

05. i S
Solution for Question 50 Ans Key: 1
eng

> e D> <
N =
£ <o > <
> < > <
> <O > <TI-
B> <ds B> <Is

Q-51 Who among the following sits third to the right of E?

01. F 02. B
(3@ 04. A

05. None of these.
Q-51 Ferforfaa § & 19 E % a3 A e aer1 82

hi

01. F 02. B

03. C 04. A

05. =t & 78 T
Solution for Question 51 Ans Key: 1
eng A F C B E D

S Q R T P U

hi A F C B E D



I .

Q-52  Immediate neighbour of U faces to whom among the following?
eng

01. A 02. B
03. C 04. D

05. None of these
Q-52  UFTgia v, Faferfea & & e sie ga &= 327182

hi
01. A 02. B
03. C 04. D
05. =it i 7S
Solution for Question 52 Ans Key: 5
eng A F & B E D
) Q R T P U
A F (& B E D
S Q R T P U
Q-53 Four of the following five are alike in a certain way based on their seating positions and so form a group. Which of the following is different from the group?

01. AQ 02. CT
03. BT 04. ET
05. DP

Q-53  fAwfafad o= § & AT 370 95 il (AT % AT 9 TH1 8 oY THT UF J4g a9 3| [Fetaiad § 9 #:4 99 & 797 82

01. AQ 02. CT
03. BT 04. ET
05. pp
Solution for Question 53 Ans Key: 3
eng
hi

o
04 99
S
NN N B

—> <3 /> <4-
> <A > 0 <Ae




S Q R T P U

Q-54 How many person sit/sits between second to the left of P and T?
eng

01. None 02. |
03. 2 04. 3

05. None of these.
Q-54 P ATy ¥ gAY &Y T % i fohaw ==f<w 8 2/82

hi
01. =< gl 02. |
03. 2 04. 3
05. =z & A T
Solution for Question 54 Ans Key: 1
eng A F C B E D
S Q R T P U
A F C B E D
S Q R T P U
Passage for Question 55, 56, 57 (ST-170SBICLERKPRE (81-83) 2019)
eng Passage
Study the following information carefully and answer the questions given below:
5Boys- S, T, U, V and W; each have different number of Box.
W has less boxes than only V. T has 10 Boxes. U has 17 boxes more than S who has 5 boxes. V has more than 25 boxes.
hi Passage
Rerferied ST FT SATgE® sTeaa= w2 3T = 30 70wt 3 3 St
5dEF- S, T, U, V 3T W; Teash o a1 forer-forer g & afm €
W I dael V F 7 aia g1 TF 919 10 T 81 UF 919, S & 17 aim e 8, fomss ame 5 ai 81 V% 919 25 7 Tfere atea gl
Q-55 U have more boxes than persons.
eng
01. 2 02. 1
03. 4 04. 3
05. Cannot be determined
Q-55 UFTH FTRAT 7 ATEF qia 2
hi
01. 2 02. 1
03. 4 04. 3
05. faeifed 72T B < &
Solution for Question 55 Ans Key: 1

eng \J \AJ 11 - c



sy

25+ 23/24 22 10 5
B v W U T S
25+ 23/24 22 10 5
Q-56  How many boxes W have?
eng
01. 27 02. 23
03. 29 04. 19
05. 38
Q-56 W F U A At €2
hi
01. 27 02. 23
03. 29 04. 19
05. 38
Solution for Question 56 Ans Key: 2
= vV W U T S
25+ 23/24 22 10 5
\" W U T; S
25+ 23/24 22 10 5
Q-57  How many boxes U have?
01. 44 02. 28
03. 27 04. 22
05. 37
Q-57 U ™ fhaq ata g2
01. 44 02. 28
03. 27 04. 22
05. 37
Solution for Question 57 Ans Key: 4
\" W U T; S
25+ 23/24 22 10 5
B v w u T S
25+ 23/24 22 10 5

eng Passage

In a certain code language,

hi Passage

‘ALWAYS BE GREAT" is written as ‘P1S 02D K3E’,
‘INDIA IS GREAT?” is written as ‘C3D K3E D4F’,
‘ALWAYS GOOD BEST’ is written as ‘F4T O2D R5T’ and
‘GOOD IS BETTER? is written as ‘D4F O3D R5T °. Then...

Passage for Question 58, 59, 60, 61 (ST-169 SBI PO PRE (16-19) 2019)

Study the given information carefully and answer the following questions.

et ST 1 eamaE s steae w2 3irT $= o o et 3 s ffem:




ua fAfera e wrar

‘ALWAYS BE GREAT’ #T ‘P1S 02D K3E’,
‘INDIA IS GREAT’ #T ‘C3D K3E D4F’,
‘ALWAYS GOOD BEST’ T ‘F4T 02D R5T’ 3%
‘GOOD IS BETTER’ #T ‘D4F 03D R5T’ fer@r stratg arv ...

Q-58 What is the code for ‘GOOD’ in the given code language?
eng
01. D4F 02. C3D
03. 02D 04. R5T
05. 03D
Q-58 =T FIE AT H ‘GOOD’ F forw FT T 2
hi
01. D4F 02. C3D
03. 02D 04. R5T
05. 03D
Solution for Question 58 Ans Key: 4
WORD/2Tsg | CODE/2Tsg
ALWAYS 02D
BE P1S
GREAT K3E
INDIA c3D
IS D4F
GOOD RST
BEST FAT
BETTER 03D
WORD/2[SG | CODE/2Isg
ALWAYS 02D
BE P1S
GREAT K3E
INDIA c3D
IS D4F
GOOD RST
BEST FaT
BETTER 03D
Q-59 What is the code for ‘BE’ in the given code language?
eng
01. 02D 02. 03D
03. K3E 04. P1S
05. D4F
Q-39 & T FiE AT H ‘BE’ F 0 AT AT 82
hi
01. 02D 02. 03D
03. K3E 04. P1S
05. D4F
Ans Key: 4
Q-60  What s the code for ‘IS BETTER’ in the given code language?

eng



01. 02D 03D 02. O3DPIS

03. K3ERST 04. P1S O3D
05. 03D D4F
Q-60 =T AT Fre 9THT H ‘IS BETTER’ & forw #1 e €2
hi
01. 02D 03D 02. 03D PIS
03. K3ERST 04. P1S O3D
05. O3D D4F
Ans Key: 5
Q-61  Whatis the code for INDIA” in the given code language?
eng
01. K3E 02. D4F
03. R5T 04. C3D
05. 03D
Q-61 =TT FrE 9TOT H ‘INDIA” & o = #E 22
hi
01. K3E 02. D4F
03. RST 04. C3D
05. 03D
Ans Key: 4

Passage for Question 62, 63, 64, 65, 66 (ST-77 RRB PO PRE (Q-26-30)2017)

eng Passage

Study the following information carefully and answer the questions given below:

Eight friends A, B, F, E, G, J, N and P are going to different countries viz. Sri Lanka, India, China, Bhutan, Chile, Denmark, France and Greece but not necessarily
in the same order. Each of them is travelling in different flights JetLite, SpiceJet and Air India. The number of friends who travel in flight is not less than two and not
more than three.

P is going to France and is travelling in SpiceJet.
F is going to Bhutan and is travelling in JetLite.
Jis going to Chile and is traveling in JetLite.

The one who is travelling in Air India is not going to Sri Lanka or Denmark.

G and A are going to Sri Lanka and India respectively.

The flight of P and N is same and no other friend travelling in the similar flight.

hi Passage

rafafas sgaear &1 8qga® stegaT w2 A= feg gyt F saxd:

P TR ST TET & ¥ TTSHsIe & ATAT T 2T 8l
F 92T ST TET § #1T Siedrse & ITa1 F7 W27 8l
J Freft ST 7T & ST SeeTee ¥ AT F T T

g AR ST AR AT F I3 FT 77T & AT 7 S79TF 9871 A7 7T 2

G 3% A wmer: #fieie i AT ST = 8

P 3T N U &I FATSE § ATAT FT Tg @ AT 3T s AT e =7 FATSE § ATAT 751 F7d 8

AB AT A, B, F,E, G, J, N ST P # & T4 ST-3T 297 37T 2T, ST, 9, qe, Fet, S0, i T 19 §7 7 8 Afhd STl qei (6 340
BT FH | gl STH F TIF SeRT- 3T FATSE SEATSe, TATSHE ST TATS AT F ATAT Fd gl UF ol FATSE § ATAT T ATl QTEQT T ST &7 8 FH 37T
T srfere T2l B

Q-62  Which of the following is a correct combination?
eng
01. A - Air India - Bhutan
03. P - Spicelet - Denmark
05. N - Spicelet - India
Q-62 fAwfofed & & #1 |7 S90S 7= 82
hi

01. A-—wHzEfear - g2

02. F - JetLite - India
04. G - JetLite - Sri Lanka

02. F-Searse - 2o



03. P -¥qT2H ST - STATT 04. G - Srearse - et
05. N - =rEHSIe - 2T

Ans Key: 4
Q-63  Who among the following pairs of friends travelling in JetLite ?
eng
01. N, P,J 02. F,G,J
03. N.P,G 04. N, A,P
05. A,B,G
Q-63  wfiad ® & F1 & =Af<h SledTse | ATAT Fd 52
hi
01. N,P,J 02. F,G,1J
03. N,P,G 04. N, A,P
05. A,B,G
Ans Key: 2
Q-64  Which of the following Country did N go?
eng
01. Denmark 02. France
03. Bhutan 04. Sri Lanka
05. India
Q-64  wforfad § 7 N e Tor &t 7= F2ar 22
01. =9HTH 02. wiE
03. s 04. s=fie=r
05. =T
Ans Key: 1
Q-65  Whois going to Greece?
01. B 02. E
03. A 04. p
0S. Either BorE
Q-65 THEHASTIRIZ?
01. B 02. E
03. A 04.
05. ITFABATE
Ans Key: 5
Q-66 Four of the following five are alike in a certain way and so form a group. Which one does not belong to that group?
eng
01. B- AirIndia 02. E-Bhutan
03. P - Denmark 04. J- SriLanka
05. A - AirIndia
Q-66 =TT AT F AT I (AeATET T § & =1L Rl T F qIAT & SHIOT ITHT U THg aal § qg HI 97 & 1 o7 Tqg | qal Aarg ?
hi
01. B-wgwfear 02. E-ve
03. p-ZFHTH 04. J - =fiFr
05. A-ugEfear
Solution for Question 66 Ans Key: 5
eng PERSON COUNTRY FLIGHT
A INDIA AIR INDIA
B CHINA/GREECE AIR INDIA

F BHUTAN JETLITE



E CHINA/GREECE AIR INDIA

G SRILANKA JETLITE

J CHILE JETLITE

N DENMARK SPICEJET

p FRANCE SPICEJET
hi {3 a9 FATEE

A EERI e AT

B A TaE AT

F T SEATEE

E L) LREEEDT

G sfteieht SfedTEe

J foreft SfedTze

N ERLIED TEESE

P TRIE AN

01.
02.
03.
04.
05.

Passage for Question 67, 68, 69, 70 (ST-83 RRB PO PRE (Q.31-35)2017)
eng Passage

In each of the following questions assuming the given statements to be true, find which of the two conclusions I and II given below them is/are definitely true and give,
your answer-

If only conclusion I is true.

If only conclusion II is true.

If either conclusion I or IT is true.

[f neither conclusion I nor I is true.
If both conclusions I and II are true.

hi Passage

Rerferfera weat § 2 T2 o= 999 F1 97 q19d g4, ATq hitory fo F= fer 2 37 o [ =02 11 # #iq-a1 [fem &7 8% qe7 § =i SH a6 7 o0

01.
02.
03.
04.
0s.

Q-67

RIEEEEAR R R

i Faer ey 11 7e7 21

Tfe g7 a7 fAewd 197 TR 1L |7 2
Tfe T a7 Foe | ST T2 1 77 2l
Tfe A [ 11 <141 & 2

Statement: A>B>C=D>E<F<G=H=I<]J]

Conclusion: I. A>F II. A=F

01. (1) 02. (2)
03. (3) 04. (4)
05. (5)

wqq: A>B>C=D>E<F<G=H=I<]J

s : L A>F I. A=F

01. (1) 02. (2)
03. (3) 04. (4
05. (5)

Solution for Question 67

Ans Key: 4

eng A>B>C=D>E<F<G=H=I<]
A>F (False)
A=F (False)
hi A>B>C=D>E<F<G=H=1<]J
A>F (3EA)
A=F (319A)
Q-68 Statement:P*QiR*5=T$U$Vzw#x
eng Conclusion:l. W} Q



I R$U

01. (1) 02. (2)
03. (3) 04. (4)
05. (5)
@Ul:P{Q{R{S=TEUFV=WEX
forspi: 1. W4 Q

I. R¢U
01. (1) 02. (2)
03. (3) 04. (4
05. (5)

Solution for Question 68

Ans Key: 1

eng

wia =TRUE R4 U =FALSE

hi

wiaq =9 R4 U =T

Q-69

eng

Q-69

Statement: A<B<C<D<E;J=I<H>G=F=E

Conclusion: I.H>A II.D<J

01. (1) 02. (2)
03. (3) 04. (4)
05. (5)

FIT: A<B<C<D<E;J=I<H>G=F=E

fassd: LH>A I.D<J

01. (1) 02. (2)
03. (3) 04. (4)
05. (5)

Solution for Question 69

Q-70

A<B<C<D<E;J=1<H>G=F=E

H> A (True)
D <] (False)
A<B=C<D<E;J=I<H>G=F=E

H>A (9%)
D<J (31\ <)

Statement: P>Q>R=S>T>U=V=W<X<Y>Z

Conclusion: 1. S>Y II. R<Y

01. (1) 02. (2)
03. (3) 04. (4
05. (5)

FYA: P>Q>R=S>T>U=V=W<<X<Y>Z

sy L S>Y IL R<Y

01. (1) 02. (2)
03. (3) 04. (4)
05. (5)

Solution for Question 70

Ans Key: 1

Ans Key: 3

eng R=S>T>U=V=W<X<Y
S>Y
R<Y

hi R=S>T>U=V=W<X<Y

S>Y



R<Y

Passage for Question 71, 72, 73, 74, 75 (ST-316SBIPOPRE(1-5E)2020)
eng Passage

In the passage, some blanks are given and against each blank five alternative words are suggested. Choose the correct alternative to complete the
passage in a meaningful way.

Like Christmas, Diwali has both a religious and material aspect. Visually, the latter has grown to (A) the first over time. But this year should be
different. Big parties for example should be avoided. At core celebrations of these festivals are about fellow feeling, from the family to the larger community to even
larger ones. But in a pandemic all festivals have to be (B) by the imperative of keeping our loved ones and our community safe.

Even Chhath Puja celebrations should take place at home this year, especially in cities like Delhi where the infection is in (C) and poor air quality is
an additional health hazard. In fact daily new cases and deaths are touching record numbers in the capital. Crowding into markets and other public spaces for
(D) reasons right now defies common sense.

Also worth (E) is that the National Green Tribunal has directed that no firecrackers should be sold this month in any city or town where the average
air quality has fallen in the ‘poor” or worse quality. It is important that governments and civil society take this direction seriously. It literally takes everyone acting in
concert to get through a pandemic. Let our festivities really shine with community spirit this year.

hi Passage

In the passage, some blanks are given and against each blank five alternative words are suggested. Choose the correct alternative to complete the
passage in a meaningful way.

Like Christmas, Diwali has both a religious and material aspect. Visually, the latter has grown to (A) the first over time. But this year should be
different. Big parties for example should be avoided. At core celebrations of these festivals are about fellow feeling, from the family to the larger community to even
larger ones. But in a pandemic all festivals have to be (B) by the imperative of keeping our loved ones and our community safe.

Even Chhath Puja celebrations should take place at home this year, especially in cities like Delhi where the infection is in (C) and poor air quality is
an additional health hazard. In fact daily new cases and deaths are touching record numbers in the capital. Crowding into markets and other public spaces for
(D) reasons right now defies common sense.

Also worth (E) is that the National Green Tribunal has directed that no firecrackers should be sold this month in any city or town where the average
air quality has fallen in the ‘poor” or worse quality. It is important that governments and civil society take this direction seriously. It literally takes everyone acting in
concert to get through a pandemic. Let our festivities really shine with community spirit this year.

Q-71 Choose the correct option for (A).

01. Flimsy 02. Barbarous
03. Customary 04. Dominate
05. Obscure

Q-71 Choose the correct option for (A).

01. Flimsy 02. Barbarous
03. Customary 04. Dominate
05. Obscure
Solution for Question 71 Ans Key: 4

eng Dominate (v) - to overpower something.
For other options-
Flimsy (adj.) - transparent.
Barbarous (adj.) - dangerous.
Customary (adj.) - according to the customs or usual practices associated with a particular society, place, or set of circumstances.
Obscure (adj.) - dark.

hi Dominate (v) - to overpower something.
For other options-
Flimsy (adj.) - transparent.
Barbarous (adj.) - dangerous.
Customary (adj.) - according to the customs or usual practices associated with a particular society, place, or set of circumstances.
Obscure (adj.) - dark.

Q-72  Choose the correct option for (B).
eng



01. Remodelled 02. Frail
03. Trickery 04.  Alluring

0S. Languid
Q-72  Choose the correct option for (B).
hi

01. Remodelled 02. Frail
03. Trickery 04.  Alluring
05. Languid

Solution for Question 72

Ans Key: 1

eng Remodel (v) - change the structure or form of something.
For other options-
Frail (adj.) - weak.
Trickery (n) - hypocrisy.
Alluring (adj.) - attractive.
Languid (adj.) - which could be easily broken.

hi Remodel (v) - change the structure or form of something.
For other options-
Frail (adj.) - weak.
Trickery (n) - hypocrisy.
Alluring (adj.) - attractive.
Languid (adj.) - which could be easily broken.

Q-73 Choose the correct option for (C).

01. Intrepid 02. Spate
03. Trresolute 04. Covetous

05. Miniature
Q-73 Choose the correct option for (C).

01. Intrepid 02. Spate
03. Trresolute 04. Covetous
05. Miniature

Solution for Question 73

Spate (n) - a large number of similar things coming in quick succession.
For other options-

Intrepid (adj.) - fearless.

Irresolute (adj.) - always changing/fluctuating.

Covetous (adj.) - greedy.

Miniature (adj.) - very small.

Spate (n) - a large number of similar things coming in quick succession.
For other options-

Intrepid (adj.) - fearless.

Irresolute (adj.) - always changing/fluctuating.

Covetous (adj.) - greedy.

Miniature (adj.) - very small.

Ans Key: 2

Q-74  Choose the correct option for (D).
eng

01. Intrigue 02. Concealing
03. Recreational 04. Inquisitive

05. Perfidious
Q-74  Choose the correct option for (D).
hi

01. Intrigue 02. Concealing
03. Recreational 04. Inquisitive
05. Perfidious

Solution for Question 74

Ans Key: 3

eng Recreational (adj.) - relating to or denoting activity done for enjoyment when one is not working.



For other options-

Intrigue (V) - arouse the curiosity or interest of; fascinate.
Concealing (v) - hide.

Inquisitive (adj.) - studious.

Perfidious (adj.) - who cannot be trusted.

hi Recreational (adj.) - relating to or denoting activity done for enjoyment when one is not working.
For other options-
Intrigue (V) - arouse the curiosity or interest of; fascinate.
Concealing (V) - hide.
Inquisitive (adj.) - studious.
Perfidious (adj.) - who cannot be trusted.

Q-75  Choose the correct option for (E).
eng

01. Dexterous 02. Instigate
03. Spur 04. Ascribe

05.  Underlining
Q-75  Choose the correct option for (E).

hi
01. Dexterous 02. Tnstigate
03. Spur 04. Ascribe
05.  Underlining
Solution for Question 75 Ans Key: 5

Underline (v) - emphasize (something).
For other options-

Dexterous (ad;.) - skilled.

Instigate (V) - to provoke.

Spur (v) - to motivate.

Ascribe (V) - to charge.

Underline (v) - emphasize (something).
For other options-

Dexterous (adj.) - skilled.

Instigate (V) - to provoke.

Spur (v) - to motivate.

Ascribe (v) - to charge.

Passage for Question 76, 77, 78, 79, 80 (ST-316SBIPOPRE(6-10E)2020)
eng Passage

Read the following passage carefully and answer the questions given below it. Certain words have been given in bold to help you locate them while
answering some questions.

The third tranche of the government’s economic recovery package, or Atmanirbhar Bharat 3.0, is expected to provide a potential boost of Rs 2.65 lakh crore
spread over a few years. The lion’s share of the package is taken by an industrial policy of almost Rs 1.46 lakh crore, Production Linked Incentives. This policy
aims to provide fiscal support over time to handpicked firms in areas where the government is trying to boost domestic competitiveness. Overall, this third package
indicates we are unlikely to see much by way of fiscal stimulus this year.

A fiscal stimulus represents fresh, discretionary spending or tax cuts to provide economic support. In September, the government finalised its borrowing plan for the
year and has since signalled that it’s disinclined to top up. This means that most of the changes announced represent a shift in prioritisation of spending for the year,
or calibration of the existing schemes to allow for greater synchronisation with RBI’s monetary stimulus. In this context, measures to incentivise real estate sales and
add to the list of stressed sectors eligible for credit support make sense.

The flexibility of response in response to an unprecedented situation is welcome. But the slow pace of government spending when private demand has shrunk is a
puzzle. Data from the Controller General of Accounts shows that at the end of the first half of the financial year, total government expenditure at Rs 14.79 lakh crore
was lower than the previous year in absolute terms. The situation was worse when it came to capital spending, which at Rs 1.65 lakh crore is lower by 13%. In the
wake of a collapse in aggregate demand, what really counts is the government’s failure to step up its spending to partially offset it.

hi Passage

Read the following passage carefully and answer the questions given below it. Certain words have been given in bold to help you locate them while
answering some questions.

The third tranche of the government’s economic recovery package, or Atmanirbhar Bharat 3.0, is expected to provide a potential boost of Rs 2.65 lakh crore
spread over a few years. The lion’s share of the package is taken by an industrial policy of almost Rs 1.46 lakh crore, Production Linked Incentives. This policy
aims to provide fiscal support over time to handpicked firms in areas where the government is trying to boost domestic competitiveness. Overall, this third package
indicates we are unlikely to see much by way of fiscal stimulus this year.




A fiscal stimulus represents fresh, discretionary spending or tax cuts to provide economic support. In September, the government finalised its borrowing plan for the
year and has since signalled that it’s disinclined to top up. This means that most of the changes announced represent a shift in prioritisation of spending for the year,

or calibration of the existing schemes to allow for greater synchronisation with RBI’s monetary stimulus. In this context, measures to incentivise real estate sales and
add to the list of stressed sectors eligible for credit support make sense.

The flexibility of response in response to an unprecedented situation is welcome. But the slow pace of government spending when private demand has shrunk is a
puzzle. Data from the Controller General of Accounts shows that at the end of the first half of the financial year, total government expenditure at Rs 14.79 lakh crore
was lower than the previous year in absolute terms. The situation was worse when it came to capital spending, which at Rs 1.65 lakh crore is lower by 13%. In the
wake of a collapse in aggregate demand, what really counts is the government’s failure to step up its spending to partially offset it.

Q-76

eng

Q-76

What does government’s economic recovery package aims to provide the public?

01. fiscal support over time to handpicked firms 02. Downfall in domestic competitiveness
03. Boom in domestic competitiveness 04. 1and3

05. None of the above
What does government’s economic recovery package aims to provide the public?

01. fiscal support over time to handpicked firms 02. Downfall in domestic competitiveness
03. Boom in domestic competitiveness 04. 1and3
05. None of the above

Solution for Question 76

Q-77

Q-77

The answer can be inferred from the first paragraph.
The answer can be inferred from the first paragraph.

According to the passage, which of the following sentence is/are TRUE?

I. Atmanirbhar Bharat 3.0, is expected to provide a potential boost of Rs 2.65 lakh crore spread over a few years.
II. A fiscal stimulus provides economic support

II1. Data from the Controller General of Accounts shows that total government expenditure was lower than the previous year in absolute terms.

01. Onlyl 02. I and III
03. Only Il 04. All of the above

05. Both IT and III
According to the passage, which of the following sentence is/are TRUE?

I. Atmanirbhar Bharat 3.0, is expected to provide a potential boost of Rs 2.65 lakh crore spread over a few years.
I1. A fiscal stimulus provides economic support

I11. Data from the Controller General of Accounts shows that total government expenditure was lower than the previous year in absolute terms.

01. OnlyI 02. T[andIII
03. Only III 04. All of the above
05. Both II and 11T

Solution for Question 77

Ans Key: 4

Ans Key: 4

eng

The answer can be inferred after reading the entire passage carefully.

hi

The answer can be inferred after reading the entire passage carefully.

Q-78

eng

What does the idiom “lion’s share” indicates in accordance to the passage?

01. Share of the animals 02. Largest share
03. Something which could not be shared 04. Share of the leader

0S. Large amount in stock market
What does the idiom “lion’s share” indicates in accordance to the passage?

01. Share of the animals 02. Largest share
03. Something which could not be shared 04. Share of the leader

05. Large amount in stock market



Solution for Question 78 Ans Key: 2

eng ‘Lion’s share’ means ‘the largest share/part’ and the idiom is present in the first paragraph of the passage.
E.g. - William was appointed editor, which meant that he did the lion's share of the work.

hi ‘Lion’s share’ means ‘the largest share/part’ and the idiom is present in the first paragraph of the passage.
E.g. - William was appointed editor, which meant that he did the lion's share of the work.

Q-79 What is the message sent through the sentence- “the slow pace of government spending when private demand has shrunk is a puzzle.”?
eng

01. Government is taking steps to boost up the 02. Government’s activities seems to be confuising
economy

03. The government is moving slowly in its 04. Government is trying to solve various economic puzzles
every step

05. None of the above
Q-79 What is the message sent through the sentence- “the slow pace of government spending when private demand has shrunk is a puzzle.”?
hi

01. Government is taking steps to boost up the 02. Government’s activities seems to be confusing
economy

03. The government is moving slowly in its 04. Government is trying to solve various economic puzzles
every step

05. None of the above
Solution for Question 79 Ans Key: 2

The answer can be inferred from the third paragraph.

The answer can be inferred from the third paragraph.

Q-80 Choose the word which is most nearly the SAME in meaning to the word given in bold as used in the passage.

UNPRECEDENTED
01. Novel 02. Conventional
03. Derivative 04. Traditional

0S. Hackneyed
Q-80 Choose the word which is most nearly the SAME in meaning to the word given in bold as used in the passage.

UNPRECEDENTED

01. Novel 02. Conventional
03. Derivative 04. Traditional
0S. Hackneyed

Solution for Question 80 Ans Key: 1

eng Unprecedented (adj.) - unexpected.
Novel (adj.) - not known or experienced before.
For other options-
Conventional (adj.) - based on or in accordance with what is generally done or believed; traditional.
Derivative (adj.) - imitative of the work of another artist, writer, etc., and usually disapproved of for that reason.
Hackneyed (adj.) - having been overused; unoriginal and trite.

hi Unprecedented (adj.) - unexpected.
Novel (adj.) - not known or experienced before.
For other options-
Conventional (adj.) - based on or in accordance with what is generally done or believed; traditional.
Derivative (adj.) - imitative of the work of another artist, writer, etc., and usually disapproved of for that reason.
Hackneyed (adj.) - having been overused; unoriginal and trite.

Q-81 Read the sentence given below in four parts and mark the part which has error. If there is no error, your answer is (5).
eng

01.  All the furnitures 02. has been repaired
03. by the owner of the 04. house before shifting.

05. No error



Q-81

Read the sentence given below in four parts and mark the part which has error. If there is no error, your answer is (5).

01. All the furnitures 02. has been repaired
03. by the owner of the 04. house before shifting.
05. No error
Solution for Question 81 Ans Key: 1
eng ‘Furniture’ does not have a plural form as it is an uncountable noun.
hi ‘Furniture’ does not have a plural form as it is an uncountable noun.
Q-82 Read the sentence given below in four parts and mark the part which has error. If there is no error, your answer is (5).
eng
01. One of the conspicuous 02. benefit of covid-19
03. is that it made people 04. technically advanced.
05. No error
Q-82 Read the sentence given below in four parts and mark the part which has error. If there is no error, your answer is (5).
hi
01. One of the conspicuous 02. benefit of covid-19
03. s that it made people 04.  technically advanced.
0S. No error
Solution for Question 82 Ans Key: 2
‘one of the’ should be followed by plural form of noun, so replace ‘benefit’ with ‘benefits’.
‘one of the’ should be followed by plural form of noun, so replace ‘benefit’ with ‘benefits’.
Q-83 Read the sentence given below in four parts and mark the part which has error. If there is no error, your answer is (5).
01. Ifhe studied harder 02. and answered one more question
03. he would have scored 04. better in this semester.
05. No error
Q-83 Read the sentence given below in four parts and mark the part which has error. If there is no error, your answer is (5).
01. Ifhe studied harder 02. and answered one more question
03. he would have scored 04. better in this semester.
05. No error
Solution for Question 83 Ans Key: 1
When two actions occurs in past, the first action should be in ‘past perfect tense’, so add ‘had’ before studied.
When two actions occurs in past, the first action should be in ‘past perfect tense’, so add ‘had’ before studied.
Q-84 Read the sentence given below in four parts and mark the part which has error. If there is no error, your answer is (5).
eng
01. Economist Paul Streeten famously said 02. that whereas academic make progress by sharpening
03. questions they ask, politicians do so 04. by obfuscating them.
05. No error
Q-84 Read the sentence given below in four parts and mark the part which has error. If there is no error, your answer is (5).
hi
01. Economist Paul Streeten famously said 02. that whereas academic make progress by sharpening
03. questions they ask, politicians do so 04. by obfuscating them.
05. No error
Solution for Question 84 Ans Key: 2

eng

Replace ‘academic’ with ‘academics’ as certain noun always remains in plural structure.

hi

Replace ‘academic’ with ‘academics’ as certain noun always remains in plural structure.

Q-85

eng

Read the sentence given below in four parts and mark the part which has error. If there is no error, your answer is (5).



01. Numerous policy mistakes including 02. weakened fiscal discipline, repeated interest rate hikes, Land Acquisition Act of 2013,

retrospective taxation,

03. irresponsible lending for public sector banks 04. blocking of environmental clearances followed.
and

05. No error

Q-85 Read the sentence given below in four parts and mark the part which has error. If there is no error, your answer is (5).

01. Numerous policy mistakes including 02. weakened fiscal discipline, repeated interest rate hikes, Land Acquisition Act of 2013,
retrospective taxation,
03. irresponsible lending for public sector banks 04. blocking of environmental clearances followed.
and
05. No error
Solution for Question 85 Ans Key: 3
eng Replace “for” with ‘by’ before public sectors as irresponsible lending was done by public not for them.
hi Replace “for’ with ‘by’ before public sectors as irresponsible lending was done by public not for them.

Q-86 In the following question, a sentence with a highlighted word is given which may or may not be correct in the context of the sentence. Choose
eng the word which should replace the highlighted word to make the sentence meaningful. If the word is correct as it is, your answer is (5).

The volcanic outbursts could be the cause of great devastation.

01. Eruptions 02. Movement
03. Erosion 04. Evolution
05. No change required
Q-86 In the following question, a sentence with a highlighted word is given which may or may not be correct in the context of the sentence. Choose

the word which should replace the highlighted word to make the sentence meaningful. If the word is correct as it is, your answer is (5).

The volcanic outbursts could be the cause of great devastation.

01. Eruptions 02. Movement
03. Erosion 04. Evolution
05. No change required
Solution for Question 86 Ans Key: 1

Volcanoes do not burst out, it erupts.

Volcanoes do not burst out, it erupts.

Q-87 In the following question, a sentence with a highlighted word is given which may or may not be correct in the context of the sentence. Choose
the word which should replace the highlighted word to make the sentence meaningful. If the word is correct as it is, your answer is (5).

It was impossible to recover the criminal’s body as the place of the accident was marshy.

01. Rocky 02. Distant
03. Tnaccessible 04. Evident

05. No change required
Q-87 In the following question, a sentence with a highlighted word is given which may or may not be correct in the context of the sentence. Choose
hi the word which should replace the highlighted word to make the sentence meaningful. If the word is correct as it is, your answer is (5).

It was impossible to recover the criminal’s body as the place of the accident was marshy.

01. Rocky 02. Distant

03. Inaccessible 04. Evident

05. No change required
Solution for Question 87 Ans Key: 3
eng Body could be recovered from marshy area but not from area which is not accessible.
hi Body could be recovered from marshy area but not from area which is not accessible.

Q-88 In the following question, a sentence with a highlighted word is given which may or may not be correct in the context of the sentence. Choose
eng the word which should replace the highlighted word to make the sentence meaningful. If the word is correct as it is, your answer is (5).



As a result of favouritism many misfit candidates were selected for the posts.

01. Tolerance 02. Weakness
03. Humility 04. Humanity

0S. No change required
In the following question, a sentence with a highlighted word is given which may or may not be correct in the context of the sentence. Choose
the word which should replace the highlighted word to make the sentence meaningful. If the word is correct as it is, your answer is (5).

As aresult of favouritism many misfit candidates were selected for the posts.

01. Tolerance 02. Weakness

03. Humility 04.  Humanity

05. No change required
Solution for Question 88 Ans Key: 5
eng The sentence is absolutely correct, as misfit candidates are selected due to favouritism which means partiality.

hi

The sentence is absolutely correct, as misfit candidates are selected due to favouritism which means partiality.

Q-89

Q-89

In the following question, a sentence with a highlighted word is given which may or may not be correct in the context of the sentence. Choose
the word which should replace the highlighted word to make the sentence meaningful. If the word is correct as it is, your answer is (5).

In order to maintain good health one should eat a protein diet.

01. Spicy 02. Mineral-rich

03. Balanced 04. Rich

05. No change required

In the following question, a sentence with a highlighted word is given which may or may not be correct in the context of the sentence. Choose
the word which should replace the highlighted word to make the sentence meaningful. If the word is correct as it is, your answer is (5).

In order to maintain good health one should eat a protein diet.

01. Spicy 02. Mineral-rich
03. Balanced 04. Rich
05. No change required

Solution for Question 89 Ans Key: 3

Q-90

To maintain good health only protein or mineral etc. is not sufficient, a balanced diet is required.
To maintain good health only protein or mineral etc. is not sufficient, a balanced diet is required.

In the following question, a sentence with a highlighted word is given which may or may not be correct in the context of the sentence. Choose
the word which should replace the highlighted word to make the sentence meaningful. If the word is correct as it is, your answer is (5).

After a recent mild paralysis attack, the movements of the patient are entirely restricted, otherwise he is quite active.

01. Slightly 02. Nowhere
03. Completely 04. Mildly

05. No change required
In the following question, a sentence with a highlighted word is given which may or may not be correct in the context of the sentence. Choose
the word which should replace the highlighted word to make the sentence meaningful. If the word is correct as it is, your answer is (5).

After a recent mild paralysis attack, the movements of the patient are entirely restricted, otherwise he is quite active.

01. Slightly 02. Nowhere

03. Completely 04. Mildly

05. No change required
Solution for Question 90 Ans Key: 1
eng Since the paralysis attack was mild, the body movement can never be stopped entirely rather slightly.

hi

Since the paralysis attack was mild, the body movement can never be stopped entirely rather slightly.




Q-91

eng

In the following question, choose the correctly spelt word from the provided options.

01. Dilema 02. Predicamant
03. Deniable 04. Houghty
05. Cay

In the following question, choose the correctly spelt word from the provided options.

01. Dilema 02. Predicamant
03. Deniable 04. Houghty
05. Cay

Solution for Question 91

Ans Key: 3

eng

Deniable (adj.) - which could be ignored or said no to.
For other options-

Dilemma (n) - a difficult situation or problem.
Predicament (n) - embarrassing situation.

Haughty (adj.) - arrogant.

Coy (adj.) - humble.

Q-92

Q-92

Deniable (adj.) - which could be ignored or said no to.
For other options-

Dilemma (n) - a difficult situation or problem.
Predicament (n) - embarrassing situation.

Haughty (adj.) - arrogant.

Coy (adj.) - humble.

In the following question, choose the correctly spelt word from the provided options.

01. Pretentious 02. Equanmity
03. Perplecity 04. Docele
05. Vehimence

In the following question, choose the correctly spelt word from the provided options.

01. Pretentious 02. Equanmity
03. Perplecity 04. Docele
05. Vehimence

Solution for Question 92

Pretentious (adj.) - which is show-off.
For other options-

Equanimity (n) - patience.

Perplexity (n) - difficulty.

Docile (adj.) - ready to accept control.
Vehemence (n) - excitement.

Ans Key: 1

hi Pretentious (adj.) - which is show-off.

For other options-

Equanimity (n) - patience.

Perplexity (n) - difficulty.

Docile (adj.) - ready to accept control.

Vehemence (n) - excitement.
Q-93 In the following question, choose the correctly spelt word from the provided options.
eng

01. Stupour 02. Petulent

03. Insiped 04. Complacent

05. Diffidance
Q-93 In the following question, choose the correctly spelt word from the provided options.
hi

01. Stupour 02. Petulent
03. Insiped 04. Complacent
05. Diffidance



Solution for Question 93

eng

Q-94

eng

Q-94

Complacent (adj.) - one who is willing to do something.
For other options-

Stupor (adj.) - lazy.

Petulant (adj.) - stubborn.

Insipid (adj.) - lacking flavour.

Diffidence (n) - modesty.

Complacent (adj.) - one who is willing to do something.
For other options-

Stupor (adj.) - lazy.

Petulant (adj.) - stubborn.

Insipid (adj.) - lacking flavour.

Diffidence (n) - modesty.

In the following question, choose the correctly spelt word from the provided options.

01. Parsecute 02. Consolasion
03.  Arbitrery 04. Peevish
05. Freitful

In the following question, choose the correctly spelt word from the provided options.

01. Parsecute 02. Consolasion
03.  Arbitrery 04. Peevish
05. Freitful

Solution for Question 94

Peevish (adj.) - something which is irritable.

For other options-

Persecute (V) - to harass.

Consolation (n) - the comfort received by a person after a loss or disappointment.
Arbitrary (n) - based on random choice.

Fretful (adj.) - feeling of irritation.

Peevish (adj.) - something which is irritable.

For other options-

Persecute (V) - to harass.

Consolation (n) - the comfort received by a person after a loss or disappointment.
Arbitrary (n) - based on random choice.

Fretful (adj.) - feeling of irritation.

In the following question, a sentence has been given five times. Choose the grammatically correct sentence.

Ans Key: 4

Ans Key: 4

01. Atmanirbhar aim to produce not just for 02. Atmanirbhar aims to produce not just for India but the world, making India an export hub with jobs

india but the worid, making india an export aplenty.

hub with jobs aplenty.

03. Atmanirbhar aims to produce not just for ~ 04. Atmanirbhar aims to produce not just for India but the world, making India an export hub with job
the India but the world, making India an aplenty.
export hub with jobs aplenty.

05. Atmanirbhar aims to be producing not just
for India but the world, making India an
export hub with jobs aplenty.
In the following question, a sentence has been given five times. Choose the grammatically correct sentence.

01. Atmanirbhar aim to produce not just for ~ 02. Atmanirbhar aims to produce not just for India but the world, making India an export hub with jobs

India but the world, making India an export aplenty.
hub with jobs aplenty.

03. Atmanirbhar aims to produce not just for ~ 04. Atmanirbhar aims to produce not just for India but the world, making India an export hub with job

the India but the world, making India an aplenty.
export hub with jobs aplenty.

0S. Atmanirbhar aims to be producing not just
for India but the world, making India an
export hub with jobs aplenty.

Solution for Question 95

Ans Key: 2



eng

Q-96

eng

Q-96

Option 2 is absolutely correct.

1- Replace ‘aim’ with ‘aims’ as the subject is singular
3- Remove ‘the’ before India as we can only put ‘the’ before a proper noun if there is a title in front of it.
4- Write ‘jobs’ as plenty is mentioned just after it.
5- Replace’ to be producing’ with ‘to produce’.

Option 2 is absolutely correct.

1- Replace ‘aim’ with ‘aims’ as the subject is singular
3- Remove ‘the’ before India as we can only put ‘the’ before a proper noun if there is a title in front of it.
4- Write ‘jobs’ as plenty is mentioned just after it.
5- Replace’ to be producing’ with ‘to produce’.

In the following question, a sentence has been given five times. Choose the grammatically correct sentence.

01.

03.

The US under Trump imposed a series of ~ 02.
trade sanctions on India, including denial of

the duty-free Generalized Scheme of
Preferences, hitting $6 billion of India’s

exports.

The US under Trump imposed a series of ~ 04.
trade sanctions in India, including denial of

the duty-free  Generalized Scheme of
Preferences, hitting $6 billion of India’s

exports.

The US under Trump imposed a series of
trade sanctions on India, including denial of
the duty-free Generalized Scheme of
Preferences, hitting $6 billion of India’s
export.

US under Trump imposed a series of trade sanctions on India, including denial of the duty-free

Generalized Scheme of Preferences, hitting $6 billion of India’s exports.

The US under Trump imposed a series of trade sanctions on India, including denial of the duty-free

Generalized Scheme of Preferences, hitting $6 billion of India exports.

In the following question, a sentence has been given five times. Choose the grammatically correct sentence.

01.

The US under Trump imposed a series of ~ 02.
trade sanctions on India, including denial of

the duty-free Generalized Scheme of
Preferences, hitting $6 billion of India’s

exports.

The US under Trump imposed a series of ~ 04.
trade sanctions in India, including denial of

the duty-free  Generalized Scheme of
Preferences, hitting $6 billion of India’s

exports.

The US under Trump imposed a series of

trade sanctions on India, including denial of

the duty-free Generalized Scheme of
Preferences, hitting $6 billion of India’s

export.

Solution for Question 96

eng

Q-97

eng

Option 1 is absolutely correct.
2- Add ‘the’ before US as it has a qualifier with it

3- Replace ‘in” with ‘on’ as sanctions was imposed on India not inside it.

4- Add apostrophe with India as exports indicates possession of the nation upon it
5- Add ‘s’ on export as the sentence indicates more than one export.

Option 1 is absolutely correct.
2- Add ‘the’ before US as it has a qualifier with it

3- Replace ‘in” with ‘on’ as sanctions was imposed on India not inside it.

4- Add apostrophe with India as exports indicates possession of the nation upon it
5- Add ‘s’ on export as the sentence indicates more than one export.

US under Trump imposed a series of trade sanctions on India, including denial of the duty-free

Generalized Scheme of Preferences, hitting $6 billion of India’s exports.

The US under Trump imposed a series of trade sanctions on India, including denial of the duty-free

Generalized Scheme of Preferences, hitting $6 billion of India exports.

In the following question, a sentence has been given five times. Choose the grammatically correct sentence.

01.

03.

Ans Key: 1

The important state of the Bihar has its own 02. The important state of Bihar have its own heritage of caste, community and at times communal

heritage of caste, community and at times
communal conflicts too.

conflicts too.

The important state of Bihar has its own 04. The important state of Bihar has it’s own heritage of caste, community and at times communal



heritage of caste, community and at time conflicts too.
communal conflicts too.

0S. The important state of Bihar has its own
heritage of caste, community and at times
communal conflicts too.
In the following question, a sentence has been given five times. Choose the grammatically correct sentence.

01. The important state of the Bihar has its own 02. The important state of Bihar have its own heritage of caste, community and at times communal
heritage of caste, community and at times conflicts too.
communal conflicts too.

03. The important state of Bihar has its own 04. The important state of Bihar has it’s own heritage of caste, community and at times communal
heritage of caste, community and at time conflicts too.
communal conflicts too.

05. The important state of Bihar has its own
heritage of caste, community and at times
communal conflicts too.

Solution for Question 97 Ans Key: 5

eng

Q-98

Q-98

Option 5 is absolutely correct.

1-remove ‘the’ before Bihar as it has a qualifier with it

2-Replace ‘have’ with ‘has’ as the subject is singular

3-Replace ‘time” with ‘times” as it is used as phrase, i.e. ‘at times’
4-Remove apostrophe from ‘its’, as it is already in its possessive structure.

Option 5 is absolutely correct.

1-remove ‘the’ before Bihar as it has a qualifier with it

2-Replace ‘have’ with ‘has’ as the subject is singular

3-Replace ‘time’ with ‘times’ as it is used as phrase, i.e. ‘at times’
4-Remove apostrophe from ‘its’, as it is already in its possessive structure.

In the following question, a sentence with four highlighted words is given. Choose which of the following pairs should be interchanged to
make the sentence meaningful. If the highlighted words are already correct at their place, your answer is (5).

There are scientific pollution (A) that Delhi and Bengaluru are and will be the worst (B) hit by observations (C) whenever there’s smoke and smog, both
being landlocked (D).

01. B-C 02. A-C
03. B-D 04. A-D

05. No change required
In the following question, a sentence with four highlighted words is given. Choose which of the following pairs should be interchanged to
make the sentence meaningful. If the highlighted words are already correct at their place, your answer is (5).

There are scientific pollution (A) that Delhi and Bengaluru are and will be the worst (B) hit by observations (C) whenever there’s smoke and smog, both
being landlocked (D).

01. B-C 02. A-C

03. B-D 04. A-D

05. No change required
Solution for Question 98 Ans Key: 2
eng Interchange A and C to provide appropriate meaning to the sentence. There is nothing as scientific pollution rather observations, so these words need to be

interchanged.

hi

Interchange A and C to provide appropriate meaning to the sentence. There is nothing as scientific pollution rather observations, so these words need to be
interchanged.

Q-99

eng

Q-99

In the following question, a sentence with four highlighted words is given. Choose which of the following pairs should be interchanged to
make the sentence meaningful. If the highlighted words are already correct at their place, your answer is (5).

We pray to renew (A) our connection with divinity (B) which is everywhere, but it is dormant (C), and puja is the process to awaken it, imitating (D)
what nature is already doing for you.

01. B-C 02. A-D
03. C-D 04. A-C

0S. No change required
In the following question, a sentence with four highlighted words is given. Choose which of the following pairs should be interchanged to



hi make the sentence meaningful. If the highlighted words are already correct at their place, your answer is (5).
We pray to renew (A) our connection with divinity (B) which is everywhere, but it is dormant (C), and puja is the process to awaken it, imitating (D)
what nature is already doing for you.
01. B-C 02. A-D
03. C-D 04. A-C
05. No change required
Solution for Question 99 Ans Key: 5
eng The sentence is absolutely correct as all the words are at its proper position, so no change is required.
hi The sentence is absolutely correct as all the words are at its proper position, so no change is required.
Q-100 In the following question, a sentence with four highlighted words is given. Choose which of the following pairs should be interchanged to
eng make the sentence meaningful. If the highlighted words are already correct at their place, your answer is (5).
Yoga is putting our attention (A) on this something in us that seems to be expanding (B) when we are happy and unhappy (C) when we feel contracting
(D).
01. A-B 02. C-D
03. A-C 04. A-D
05. No change required
Q-100 In the following question, a sentence with four highlighted words is given. Choose which of the following pairs should be interchanged to
make the sentence meaningful. If the highlighted words are already correct at their place, your answer is (5).
Yoga is putting our attention (A) on this something in us that seems to be expanding (B) when we are happy and unhappy (C) when we feel contracting
(D).
01. A-B 02. C-D
03. A-C 04. A-D
05. No change required
Solution for Question 100 Ans Key: 2

Option C and D should be interchange to provide correct meaning to the sentence as two contrasting ideas could not be joined using ‘and’.

Option C and D should be interchange to provide correct meaning to the sentence as two contrasting ideas could not be joined using ‘and’.



